

A COUNTEREXAMPLE IN COPOSITIVE APPROXIMATION

BY

S. P. ZHOU

*Department of Mathematics, Statistics and Computing Science
Dalhousie University, Halifax, Nova Scotia, Canada B3H 3J5*

ABSTRACT

The present paper gives a converse result by showing that there exists a function $f \in C_{[-1,1]}$, which satisfies that $\operatorname{sgn}(x)f(x) \geq 0$ for $x \in [-1, 1]$, such that

$$\limsup_{n \rightarrow \infty} \frac{E_n^{(0)}(f, 1)}{E_n(f)} = +\infty,$$

where $E_n^{(0)}(f, 1)$ is the best approximation of degree n to f by polynomials which are copositive with it, that is, polynomials P with $P(x)f(x) \geq 0$ for all $x \in [-1, 1]$, $E_n(f)$ is the ordinary best polynomial approximation of f of degree n .

1. Introduction

Denote by $C_{[-1,1]}^k$ the class of real functions $f(x)$, which have k continuous derivatives on the interval $[-1, 1]$, with norm $\|f\| = \max\{|f(x)| : -1 \leq x \leq 1\}$, $C_{[-1,1]} = C_{[-1,1]}^0$, $\Delta^0(r)$ the class of real functions which alternate sign r times on $[-1, 1]$. Let Π_n the class of algebraic polynomials of degree at most n .

As usual, let $E_n(f)$ denote the best approximation to $f \in C_{[-1,1]}$ by algebraic polynomials of degree n , $E_n^{(0)}(f, r)$ the best approximation of $f \in C_{[-1,1]} \cap \Delta^0(r)$ by polynomials of degree n which are copositive with it, that is, polynomials $P(x) \in \Pi_n$ with $f(x)P(x) \geq 0$ for all $x \in [-1, 1]$. Let

$$\omega_k(f, t) = \max \{ \|\Delta_h^k f(x)\| : x, x+h \in [-1, 1], 0 < h \leq t \},$$

Received October 23, 1991 and in revised form March 12, 1992

where

$$\Delta_h^k f(x) = \sum_{j=0}^k (-1)^{k-j} \binom{k}{j} f(x + jh).$$

On the topic of copositive approximation, works [1], [3], [4] investigated the Jackson type theorems. The latest result is that for $f \in C_{[-1,1]} \cap \Delta^0(r)$,

$$E_n^{(0)}(f, r) \leq C_r \omega(f, n^{-1}),$$

where C_r is a constant depending only upon r , which is due to D. Leviatan [1].

However, unlike in the general comonotone approximation, in which many counterexamples have been established showing that the degree of comonotone approximation is much worse than that of ordinary best approximation, in copositive case, we cannot find much information on the relation between $E_n^{(0)}(f, r)$ and $E_n(f)$. A very clear fact is that if $E_n^{(0)}(f, r)$ is not worse than $E_n(f)$, that is, $E_n^{(0)}(f, r) = O(E_n(f))$, then we do not need to discuss the Jackson type inequalities anymore, since complete results have been established for $E_n(f)$. For example, if $r = 0$, for all nonnegative functions $f \in C_{[-1,1]}$, it is obvious that

$$E_n^{(0)}(f, 0) \leq 2E_n(f),$$

we do not need to go further.

For $r \geq 1$, however, a very likely result is that one can find a function $f \in C_{[-1,1]} \cap \Delta^0(r)$ such that

$$\limsup_{n \rightarrow \infty} \frac{E_n^{(0)}(f, r)}{E_n(f)} = +\infty.$$

In fact it is enough to show* that there is a function $f \in C_{[-1,1]} \cap \Delta^0(1)$ such that

$$\limsup_{n \rightarrow \infty} \frac{E_n^{(0)}(f, 1)}{E_n(f)} = +\infty.$$

This is a conjecture we raised in [6], in which a counterexample in L^p space for $2 < p < \infty$ for $r = 0$ is given.

The present paper will prove a converse result in copositive approximation, which in particular gives an affirmative answer to the above conjecture.

* We will give more information about this fact later in Section 3.

2. Result and Proof

THEOREM 1: *There is a function $f \in C^1_{[-1,1]} \cap \Delta^0(1)$ such that*

$$\limsup_{n \rightarrow \infty} \frac{E_n^{(0)}(f, 1)}{E_n(f)} = +\infty.$$

Indeed, Theorem 1 can be deduced from the following stronger statement by applying Jackson Theorem.

THEOREM 2: *There is a function $f \in C^1_{[-1,1]} \cap \Delta^0(1)$ such that*

$$\limsup_{n \rightarrow \infty} \frac{E_n^{(0)}(f, 1)}{\omega_4(f, n^{-1})} = +\infty.$$

LEMMA: *Suppose that $a > 0$, $\alpha(x) = \frac{x^2}{x^2 - a^2}$, $g(x, a) = xe^{\alpha(x)}$, $x \in (-a, a)$, then*

$$|g'(x, a) - 1| \leq Ca^{-2}x^2, \quad |x| < a,$$

and

$$|g''(x, a)| = O(a^{-2}x), \quad |x| < a,$$

where here and in the sequel, C always denotes an absolute constant which may vary from one occurrence to another even in the same line.

Proof: The idea for proof is the same as that in Lemma 1 of [5]. ■

Proof of Theorem 2: Let $C^\infty_{[-1,1]}$ be the class of real functions, infinitely differentiable on $[-1, 1]$, and let

$$\text{sgn}(x) = \begin{cases} 1, & x > 0, \\ 0, & x = 0, \\ -1, & x < 0. \end{cases}$$

We begin with construction of a sequence of functions, $f_n(x)$, satisfying

(1) $f_n(x) \in C^\infty_{[-1,1]}$,

(2) $\text{sgn}(x)f_n(x) \geq 0$,

(3) $\|f_n(x) - x^3 + n^{5/2}x\| \approx n^{-29/8}$,

for $m = 0, 1$,

$$(4) \quad \|f_n^{(m)}(x)\| = O(1),$$

$$(5) \quad f_n^{(m)}(0) = 0,$$

and, for sufficiently large n ,

$$(6) \quad \operatorname{sgn}(x)f_n''(x) \geq 0,$$

where $A_n \approx B_n$ means that there is a positive constant M independent of n such that

$$M^{-1}A_n \leq B_n \leq MA_n.$$

In fact, if we let

$$\bar{g}_n(x) = n^{-5/2}g(x, n^{-9/8}) + x^3 - n^{-5/2}x, \quad x \in (-n^{-9/8}, n^{-9/8}),$$

then

$$\bar{g}'_n(x) = n^{-5/2} \left(g'(x, n^{-9/8}) - 1 \right) + 3x^2.$$

By the Lemma,

$$\bar{g}'_n(x) \leq 3x^2 + O(n^{-1/4}x^2)$$

and

$$\bar{g}'_n(x) \geq 3x^2 - O(n^{-1/4}x^2)$$

for $x \in (-n^{-9/8}, n^{-9/8})$. Hence

$$\bar{g}'_n(0) = 0,$$

and for sufficiently large n ,

$$\bar{g}'_n(x) \geq 0$$

for $x \in (-n^{-9/8}, n^{-9/8})$. Combining this with the fact $\bar{g}_n(0) = 0$, we get

$$\operatorname{sgn}(x)\bar{g}_n(x) \geq 0$$

for $x \in (-n^{-9/8}, n^{-9/8})$. By the Lemma again,

$$\bar{g}''_n(x) \geq 6x - O(n^{-1/4}|x|)$$

for $x \in [0, n^{-9/8})$, or

$$\bar{g}_n''(x) \leq 6x + O(n^{-1/4}|x|)$$

for $x \in (-n^{-9/8}, 0]$. Thus for sufficiently large n ,

$$\text{sgn}(x)\bar{g}_n''(x) \geq 0$$

for $x \in (-n^{-9/8}, n^{-9/8})$. Put

$$f_n(x) = \begin{cases} x^3 - n^{-5/2}x, & |x| \geq n^{-9/8}, \\ \bar{g}_n(x), & |x| < n^{-9/8}. \end{cases}$$

From the above discussion and direct calculations, we can verify (1)–(6).

Because of (6), applying the result of copositive approximation from [1], we can find a polynomial,

$$q_n(x) = \sum_{j=0}^{N_n^*-2} a_j x^j \in \Pi_{N_n^*-2}^*,$$

such that

$$(7) \quad \|f_n''(x) - q_n(x)\| < n^{-4},$$

where N_n^* is a natural number depending on n , and Π_n^* is the class of polynomials $P(x)$ of degree n satisfying

$$\text{sgn}(x)P(x) \geq 0$$

for $x \in [-1, 1]$. Write

$$Q_n(x) = \int_0^x dx_1 \int_0^{x_1} q_n(x_2) dx_2.$$

Clearly $Q_n \in \Pi_{N_n^*}^*$ and, by (5) and (7),

$$\|f_n - Q_n\| \leq \|f_n'' - q_n\| < n^{-4}.$$

Evidently,

$$(8) \quad Q_n^{(j)}(0) = 0, \quad j = 0, 1,$$

which, together with (3) and (7), gives

$$(9) \quad \left\| Q_n(x) - x^3 + n^{-5/2}x \right\| \approx n^{-29/8},$$

and

$$(10) \quad \|Q_n^{(m)}\| = O(1)$$

for $m = 0, 1$.

Let

$$F_l(x) = \sum_{j=1}^l n_j^{-1/4} Q_{n_j}(x),$$

$$P_l(x) = F_{l-1}(x) + n_l^{-1/4}(x^3 - n_l^{-5/2}x),$$

where $\{n_l\}$ is a subsequence of natural numbers chosen by induction: Choose large enough n_1 satisfying (6),

$$(11) \quad n_{l+1} = 2 \left[n_l^{16} + N_{n_l}^* + \|F_l^{(4)}\|^8 + 1 \right]$$

for $l = 1, 2, \dots$, where $[x]$ is the greatest integer not exceeding x .

It is not difficult to see that

$$(12) \quad P_l'(0) = -n_l^{-11/4}$$

by (8), and

$$(13) \quad \|F_l - P_l\| = n_l^{-1/4} \|Q_{n_l} - x^3 + n_l^{-5/2}x\| \approx n_l^{-31/8}$$

by (9). Now (12) and (13) imply that

$$(14) \quad n_l^{9/8} \|F_l - P_l\| \leq C |P_l'(0)|.$$

Let $r(x)$ be any polynomial in $\Pi_{n_l}^*$ (in this case $r'(0) \geq 0$). Then (12), together with Bernstein's inequality (see [2]) gives us

$$(15) \quad |P_l'(0)| \leq |P_l'(0) - r'(0)| \leq C n_l \|P_l - r\| \leq C n_l (\|P_l - F_l\| + \|F_l - r\|).$$

Combining (13), (14) and (15), for l large enough, we get

$$(16) \quad \|F_l - r\| \geq C n_l^{1/8} \|F_l - P_l\| \geq C n_l^{-15/4}.$$

Define

$$f(x) = \sum_{j=1}^{\infty} n_j^{-1/4} Q_{n_j}(x).$$

It is clear that $f \in C_{[-1,1]}^1$, $\text{sgn}(x)f(x) \geq 0$ for $x \in [-1, 1]$ by (10) and the fact $Q_n(x) \in \Pi_{N_n}^*$. For any $r \in \Pi_{n_l}^*$, in view of (10),

$$\|f(x) - r(x)\| \geq \|F_l - r\| - O\left(\sum_{j=l+1}^{\infty} n_j^{-1/4}\right).$$

Applying (11) and (16) we have

$$\|f(x) - r(x)\| \geq C(n_l^{-15/4} - O(n_l^{-4})) \geq Cn_l^{-15/4},$$

so that

$$(17) \quad E_{n_l}^{(0)}(f, 1) \geq Cn_l^{-15/4}.$$

At the same time, due to (9) and (11),

$$\begin{aligned} \omega_4(f, n_l^{-1}) &\leq \|F_{l-1}^{(4)}\|n_l^{-4} + n_l^{-1/4}\omega_4(Q_{n_l}(x) - x^3 + n_l^{-5/2}x, n_l^{-1}) \\ &\quad + O\left(\sum_{j=l+1}^{\infty} n_j^{-1/4}\right) \end{aligned}$$

$$(18) \quad = O(n_l^{-31/8}) + O(n_l^{-31/8}) + O(n_l^{-4}).$$

Combining (17) and (18) for sufficiently large l yields that

$$\frac{E_{n_l}^{(0)}(f, 1)}{\omega_4(f, n_l^{-1})} \geq Cn_l^{1/8},$$

and the proof of Theorem 2 is completed. ■

3. Remark

Let $T_1(f, x) := f(x) \in C_{[-1,1]}^1 \cap \Delta^0(1)$ be the function we established in Theorem 2. Let

$$S(T_1, x) = T_1(f, 2x - 1), \quad x \in [0, 1],$$

$$T_2(f, x) = S(T_1, x^2), \quad x \in [-1, 1];$$

evidently, $T_2(f) \in C_{[-1,1]} \cap \Delta^0(2)$. In a similar way, we have a function $T_4(f, x) := T_2(T_2(f), x) \in C_{[-1,1]} \cap \Delta^0(4)$. Now let

$$T_3(f, x) = T_4(f, 3x/4 + 1/4),$$

then $T_3(f) \in C_{[-1,1]} \cap \Delta^0(3)$. The same discussions are applied to $Q_{n_j}(x)$ and $P_l(x)$, too. Note that now $T_j(P_l, x)$, $j = 1, 2, 3, 4$, have degree at most $4N_{n_l}^*$ (in the present cases, we also need to change slightly the definition of $\{n_l\}$). Then by the same method in the proof of Theorem 2, we can obtain that for $r \in \Pi_{4n_l} \cap \Delta^0(j)$,

$$\|T_j(F_l) - r\| \geq \max_{1-2/j \leq x \leq 1} |T_j(F_l, x) - r(x)| \geq Cn_l^{-15/4}, \quad j = 1, 2, 3, 4.$$

At the same time let $p^*(x)$ be the polynomial of best approximation of degree n_l to $f(x)$. Evidently,

$$E_{4n_l}(T_j(f)) \leq \|T_j(f) - T_j(p^*)\| = O(n_l^{-31/8}), \quad j = 1, 2, 3, 4.$$

Thus we have functions $T_j(f) \in C_{[-1,1]} \cap \Delta^0(j)$, $j = 1, 2, 3, 4$, such that

$$\limsup_{n \rightarrow \infty} \frac{E_n^{(0)}(T_j(f), j)}{E_n(T_j(f))} = +\infty.$$

The general case of a function $T_r(f) \in C_{[-1,1]} \cap \Delta^0(r)$ for which

$$\limsup_{n \rightarrow \infty} \frac{E_n^{(0)}(T_r(f), r)}{E_n(T_r(f))} = +\infty$$

can be treated in a similar way.

ACKNOWLEDGEMENT: The author thanks the referees for their valuable comments and suggestions toward this revised version of the paper.

References

- [1] D. Leviatan, *Degree of copositive approximation*, in: *Approximation Theory IV*, Academic Press, New York, 1983, pp. 587-592.
- [2] G. G. Lorentz, *Approximation of Functions*, Holt, Rinehart and Winston, Inc., 1964.
- [3] E. Passow and L. Raymon, *Copositive polynomial approximation*, *J. Approx. Theory* **12** (1974), 299-304.
- [4] J. A. Roulier, *The degree of copositive approximation*, *J. Approx. Theory* **19** (1977), 253-258.

- [5] X. Wu and S. P. Zhou, *On a counterexample in monotone approximation*, J. Approx. Theory **69** (1992), 205–211.
- [6] S. P. Zhou, *A converse result on copositive approximation*, Soochow J. Math. **15** (1989), 213–216. MR 91d:41007.